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QUESTION 1

Which two VMware solutions help organizations plan for disaster recovery? (Choose two.)
A. High Availability

B. Fault Tolerance

C. vSphere Replication

D. Site Recovery Manager

Correct Answer: CD

QUESTION 2

Which three of these statements are true about vRealize Suite? (Choose three)

A. provides availability for unplanned downtime for mission-critical application

B. provides availability for planned live migration using long-distance vMotion

C. provides a self-service provisioning portal to make infrastructure costs transparent to users before consumption
D. Enables desktop virtualization using Workstation

E. Enables administrator to migrate operating system

Correct Answer: CDE

QUESTION 3

Which component provides data persistence in an all-flash storage architecture?
A. Storage Area Network

B. Solid State Drive

C. NFS Replication

D. iSCSI

Correct Answer: B

QUESTION 4
Which two are challenges that could be resolved by implementing data center visualization? (Choose two.)

A. The IT department allocates 60% of its budget to maintain server infrastructure.
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B. An organization\\'s physical server infrastructure averages 30% utilization
C. The IT department is reporting increased security threats at the server level.
D. An organization\\'s physical server infrastructure is approaching 90% utilization.

Correct Answer: AD

QUESTION 5

What are the two features of vShpere that help address the availability challenges that organizations face? (Choose
two.)

A. Snapshots

B. vSphere Data protection
C. High Availability

D. Fault Tolerance.

Correct Answer: CD
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